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Rewriting Repeating Decimals

Name:

Rewrite each fraction as a decimal with repeating line.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

23/ 13 =  1.7692307692307692307692307692307692307/6

13/ 11 = 1.18181818131818181818181318181813181318

6/ 13 = 0.46153846153846153846153846153846153346

17/ 10 = 1.21428571428571428571428571428571428571
25/ 13 = 1.92307692307692307692307692307692307692
11/ 12 = 0.91666666666666666666666666666666666666
14/ 15 = 0.93333333333333333333333333333333333333
22/ = 1.46666666666666666666666666666666666666

15—

1/ 1o = 0.08333333333333333333333333333333333333

13/ = 0.92857142857142857142857142857142857142

14

7/ 13 = 0.53846153846153846153846153846153846153
4/ 3= 1.33333333333333333333333333333333333333

7/ 19 = 0.38388388833883838338383383383833838338
1.55555555555555555555555555555555555555
9/ 11 = 0.818181813181818181818181381818181818181
= 1.91666666666666666666666666666666666666
= 1.78571428571428571428571428571428571428
2/ 11 = 0.18181818131818181818181318181813181318

= 1.92857142857142857142857142857142857142

27
/14 -

13/ 1p = 1.08333333333333333333333333333333333333

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Rewriting Repeating Decimals

Name:

Answer Key

Rewrite each fraction as a decimal with repeating line.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

23/ 13 =  1.7692307692307692307692307692307692307/6

13/ 11 = 1.18181818131818181818181318181813181318

6/ 13 = 0.46153846153846153846153846153846153346

17/ 10 = 1.21428571428571428571428571428571428571
25/ 13 = 1.92307692307692307692307692307692307692
11/ 12 = 0.91666666666666666666666666666666666666
14/ 15 = 0.93333333333333333333333333333333333333
22/ = 1.46666666666666666666666666666666666666

15—

1/ 1o = 0.08333333333333333333333333333333333333
13/ 14 = 0.92857142857142857142857142857142857142
7/ 13 = 0.53846153846153846153846153846153846153
4/ 3= 1.33333333333333333333333333333333333333
7/ 19 = 0.38388388833883838338383383383833838338
1.55555555555555555555555555555555555555
9/ 11 = 0.818181813181818181818181381818181818181
= 1.91666666666666666666666666666666666666
= 1.78571428571428571428571428571428571428

2/ 11 = 0.18181818131818181818181318181813181318

= 1.92857142857142857142857142857142857142

27
/14 -

13/ 1p = 1.08333333333333333333333333333333333333

10

11

Answers

1.769230

1.18

0.461538

1.2142857

1.923076

0.916

0.93

1.46

0.083

. 0.9285714

. 0.538461

12.

1.3

13.

0.38

14.

1.

o]

15.

0.81

16.

17

1.916

. 1.7857142

18.

19

0.18

. 1.9285714

20.

1.083

C

M ath cocosheets.com/sheet/1340527
www.CommonCoreSheets.com

1-10
11-20

95

90

85

80

75

70

65

60

55

45

40

35

30

25

20

15

10

5




	Worksheet
	Answer Key

